
SR201 - METRIC STUD REMOVE/INSTALL KIT

Parts Breakdown



Item: SR201

Description: METRIC STUD REMOVE/INSTALL KIT

 N/ANotes:

Figure No Part Number Description No. Reqd Warranty Code

1 0412001 M6X1.0 REMOVE TOOL F/SR201 1 D

2 0412002 M8X1.25 REMOVE TOOL F/SR201 1 D

3 0412003 M10X1.25 REMOVE TOOL F/SR201 1 D

4 0412004 M10X1.5 REMOVE TOOL F/SR201 1 D

5 0412005 M6X1.0 INSTALL TOOL F/SR201 1 D

6 0412006 M8X1.25 INSTALL TOOL F/SR201 1 D

7 0412007 M10X1.25 INSTALL TOOL F/SR201 1 D

8 0412008 M10X1.5 INSTALL TOOL F/SR201 1 D


